

DMC No. 000001
Roll No. 23252001
Regn. No. 23-DEO-450

RESULT-cum-DETAILED MARKS CARD
MASTER OF COMPUTER APPLICATION SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : SANI SITARAMARAJU
Father's Name : SRINIVASARAO
Mother's Name : GOVINDHAMMA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-41 BIG DATA AND PATTERN RECOGNITION	57 28	40AG	100	O	10	04.0	40.0
2	MCA-20-42 COMPUTER GRAPHICS AND ANIMATION	56 29	40AG	100	O	10	04.0	40.0
3	MCA-20-43 MOBILE APPLICATION DEVELOPMENT	57 28	40AG	100	O	10	04.0	40.0
4	MCA-20-44B MACHINE LEARNING	63 30	40AG	100	O	10	04.0	40.0
5	MCA-20-45B BLOCKCHAIN TECHNOLOGY	59 29	40AG	100	O	10	04.0	40.0
6	MCA-20-46 S/W LAB-VII BASED ON MCA-20-41 & MC-20-42	93	40AG	100	O	10	02.5	25.0
7	MCA-20-47 PROJECT BASED ON MCA-20-43	AB AB F	40AG	100	F	0	02.5	0
	TOTAL	***		0700			25.0	225.0
							22.0	225.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-47

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000002
Roll No. 23252003
Regn. No. 23-DEO-452

RESULT-cum-DETAILED MARKS CARD
MASTER OF COMPUTER APPLICATION SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : A MUHAMMAD MUBARAKK
Father's Name : MAJEED KP
Mother's Name : BUSHARA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-41 BIG DATA AND PATTERN RECOGNITION	36 15	40AG	100	B	6	04.0	24.0
2	MCA-20-42 COMPUTER GRAPHICS AND ANIMATION	AB AB F	40AG	100	F	0	04.0	0
3	MCA-20-43 MOBILE APPLICATION DEVELOPMENT	AB AB F	40AG	100	F	0	04.0	0
4	MCA-20-44B MACHINE LEARNING	AB AB F	40AG	100	F	0	04.0	0
5	MCA-20-45B BLOCKCHAIN TECHNOLOGY	AB AB F	40AG	100	F	0	04.0	0
6	MCA-20-46 S/W LAB-VII BASED ON MCA-20-41 & MC-20-42	51	40AG	100	B	6	02.5	15.0
7	MCA-20-47 PROJECT BASED ON MCA-20-43	AB AB F	40AG	100	F	0	02.5	0
	TOTAL	***		0700			25.0	039.0
							6.0	39.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-42 MCA-20-43 MCA-20-44B MCA-20-45B MCA-20-47

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000003
Roll No. 23252004
Regn. No. 23-DEO-453

RESULT-cum-DETAILED MARKS CARD
MASTER OF COMPUTER APPLICATION SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : SAHIL PASRICHA
Father's Name : RAJKUMAR PASRICHA
Mother's Name : KIRAN PASRICHA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-41 BIG DATA AND PATTERN RECOGNITION	58 28	40AG	100	O	10	04.0	40.0
2	MCA-20-42 COMPUTER GRAPHICS AND ANIMATION	59 28	40AG	100	O	10	04.0	40.0
3	MCA-20-43 MOBILE APPLICATION DEVELOPMENT	55 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-44B MACHINE LEARNING	65 30	40AG	100	O	10	04.0	40.0
5	MCA-20-45B BLOCKCHAIN TECHNOLOGY	64 30	40AG	100	O	10	04.0	40.0
6	MCA-20-46 S/W LAB-VII BASED ON MCA-20-41 & MC-20-42	94	40AG	100	O	10	02.5	25.0
7	MCA-20-47 PROJECT BASED ON MCA-20-43	56 24	40AG	100	A+	9	02.5	22.5
	TOTAL	0619		0700			25.0	243.5
	GRAND TOTAL	0619		0700			25.0	243.5

RESULT : PASSED AND HAS OBTAINED : SGPA 9.74

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

DMC No. 000004
Roll No. 23252006
Regn. No. 23-DEO-455

RESULT-cum-DETAILED MARKS CARD
MASTER OF COMPUTER APPLICATION SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : VIKASH
Father's Name : MEER SINGH
Mother's Name : PAWAN DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-41 BIG DATA AND PATTERN RECOGNITION	55 28	40AG	100	A+	9	04.0	36.0
2	MCA-20-42 COMPUTER GRAPHICS AND ANIMATION	54 29	40AG	100	A+	9	04.0	36.0
3	MCA-20-43 MOBILE APPLICATION DEVELOPMENT	57 29	40AG	100	O	10	04.0	40.0
4	MCA-20-44B MACHINE LEARNING	63 30	40AG	100	O	10	04.0	40.0
5	MCA-20-45B BLOCKCHAIN TECHNOLOGY	63 29	40AG	100	O	10	04.0	40.0
6	MCA-20-46 S/W LAB-VII BASED ON MCA-20-41 & MC-20-42	94	40AG	100	O	10	02.5	25.0
7	MCA-20-47 PROJECT BASED ON MCA-20-43	AB AB F	40AG	100	F	0	02.5	0
	TOTAL	***		0700			25.0	217.0
							22.0	217.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-47

DATED : FEB 02,2026

KURUKSHETERA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

Data of issue _____

CONTROLLER OF EXAMINATIONS

DMC No. 000005
Roll No. 23252007
Regn. No. 23-DEO-456

RESULT-cum-DETAILED MARKS CARD
MASTER OF COMPUTER APPLICATION SEM-04 EXAM : JUN- 2025
(CBCS-CDOE)

Name : MISHTI GHOSAL
Father's Name : DIPENDRA KUMAR GHOSAL
Mother's Name : CHARU GHOSAL
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-41 BIG DATA AND PATTERN RECOGNITION	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-42 COMPUTER GRAPHICS AND ANIMATION	51 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-43 MOBILE APPLICATION DEVELOPMENT	48 23	40AG	100	A	8	04.0	32.0
4	MCA-20-44B MACHINE LEARNING	54 19	40AG	100	A	8	04.0	32.0
5	MCA-20-45B BLOCKCHAIN TECHNOLOGY	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-46 S/W LAB-VII BASED ON MCA-20-41 & MC-20-42	87	40AG	100	O	10	02.5	25.0
7	MCA-20-47 PROJECT BASED ON MCA-20-43	60 26	40AG	100	O	10	02.5	25.0
	TOTAL	0555		0700			25.0	222.0
	GRAND TOTAL	0555		0700			25.0	222.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.88

PASS - PROVISIONAL :

DATED : FEB 02,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____